Verb+T +number +objective=completion of an action

Drag and Drop Verb + Objective + T =completion of an action
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1. He had two bowls of noodle.
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2. She drank three cans of coca cola.
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3. I had three dances.

4. She watched three movies. | & i T £ = =2}

5. Did you play basketball last night? B r HEx T in} |_ﬁ 4T
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6. She sang three songs. p b g fih = 18 ‘ =

#7--shou (mw for songs)
{i--bit (mw for movies)

% --zh1 (mw for dances)
ifi] Zz--mian tido (noodles)

#i--guan (can) —## Ak (one can of coca cola)




